Location SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		m Dimension f the site (in S	•	Lak	by the applicant (Rs in	Mode of selection	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural		SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
1	WITHIN 3 KMS FROM KARSING BUS STAND TOWARDS BUGUDA ON SH - 33	GANJAM	Regular	115	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
	WITHIN 5 KMS FROM PURUSHOTTAMPUR JUNCTION TOWARDS HUMMA ON SH-31	GANJAM	Regular	110	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
3	WITHIN 2 KM FROM ASURESWAR HIGH SCHOOL TOWARDS NARENDRAPUR ON NH 316A	CUTTACK	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
4	WITHIN KAMAKHYANAGAR NAC LIMIT (NOT ON NH)	DHENKANAL	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
5	WITHIN 8KMS FROM THANA CHHAK TOWARDS CHANDANESWAR ON JALESWAR -DIGHA HIGHWAY	BALASORE	Regular	170	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
6	WITHIN 3 KM ON EITHER SIDE OF HOTEL PAYAL GANDHIGRAM ON NH 57	BOUDH	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
7	WITHIN 3 KM OF BHEURIA CHOWK IN PADAMPUR TOWARDS SOHELA ON NUAPADA SOHELA SH	BARGARH	Regular	150	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
8	WITHIN 6 KM FROM MADHAPUR CHOWK TOWARDS NAYAGARH ON NH 57	BOUDH	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
9	WITHIN 5 KM FROM SINDURPANK CHOWK TOWARDS PADIABAHAL ON NH	SAMBALPUR	Regular	330	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
10	BETWEEN ODISHA ADARSHA VIDHYALAYA (JHARABERENI, KANIHA) AND GODIBANDHA CHOWK ON EITHER SIDE OF NH 53 (VIA KANIHA POLICE STATION AND BALANGI)	ANGUL	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
11	WITHIN 5 KMS FROM BUGUDA BUS STAND ON SH-33	GANJAM	Regular	110	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
12	WITHIN 5 KMS FROM JARADA POLICE STATION ON SH-22	GANJAM	Regular	110	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
13	WITHIN 5 KMS FROM FIRST GATE BERHAMPUR TOWARDS DIGAPAHANDI ON SH	GANJAM	Regular	100	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
14	WITHIN 4 KMS FROM PUSTAPUR BUS STAND TOWARDS KHALLIKOTE ON SH-30	GANJAM	Regular	110	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
15	BETWEEN RAJARANI MALL, BERHAMPUR AND FIRST GATE, BERHAMPUR VIA MANGO MARKET	GANJAM	Regular	120	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
16	WITHIN 3 KMS FROM KOKOLABA PANCHAYAT OFFICE TOWARDS DASPALLA ON SH-37	GANJAM	Regular	105	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
17	WITHIN 3 KMS OF PRATHAMIKA VIDYALAYA, JHOLARI TOWARS BUGUDA ON SH - 33	GANJAM	Regular	110	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
18	WITHIN BHUBANESWAR MUNICIPAL LIMIT	KHORDHA	Regular	240	OPEN	DC	30	17	510	32	75	Draw of Lots	15	5
19	AT MOUZA HANUMANPUR ON EITHER SIDE OF KANIHA-RENGALI NH 53	ANGUL	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
20	WITHIN 3KMS OF JINDAL STEEL PLANT MATERIALS GATE TOWARDS ANGUL ON SH 63	ANGUL	Regular	100	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
	WITHIN TALCHER MUNICIPALTY LIMIT (NOT ON NH)	ANGUL	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
22	WITHIN 10KMS OF KOSALA HIGH SCHOOL TOWARDS JINDAL PLANT MAIN GATE ON SH 63	ANGUL	Regular	100	OBC	СС	30	30	900	32	12	Bidding	30	4

Location SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		m Dimension f the site (in S	•	Lak	by the applicant (Rs in	Mode of selection	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
	BETWEEN RTO OFFICE (ANGUL) AND BANARPAL NUAHATA BYEPASS		Regular / Rural	MS+HSD in KLs	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
23	CHOWK ON RHS OF NEW PROPOSED BYEPASS NH 55 VIA KHALARI (RTO OFFICE TO BANARPAL DIRECTION)	ANGUL	Regular	200	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
24 .	WITHIN 5KM OF GOVT UP SCHOOL KENDUPALLI (BHAPUR BLOCK) TOWARDS FATEGARH ON KANTILO FATEGARH SH 48	NAYAGARH	Regular	100	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
25	WITHIN 15 KMS OF PITRI CHOWK TOWARDS KHAMAR ON EITHER SIDE ON NH 149	DHENKANAL	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
	BETWEEN NUAGAON POLICE STATION AND NAYAGARH COLLECTORATE CHOWK ON EITHER SIDE OF NH 57	NAYAGARH	Regular	150	OBC	CC	35	35	1225	32	12	Bidding	30	4
	WITHIN 10 KMS OF JARAPADA POLICE STATION ON LHS OF NH 55 (ANGUL TO SAMBALPUR DIRECTION)	ANGUL	Regular	150	OPEN	CC	35	35	1225	32	12	Bidding	30	5
28	WITHIN 5 KMS OF GOBINDPUR POLICE OUTPOST ON LHS OF NH 55 (KHUNTUNI TO DHENKANAL DIRECTION)	DHENKANAL	Regular	150	OPEN	СС	35	35	1225	32	12	Bidding	30	5
	BETWEEN NUAGAON POLICE STATION AND DASPALLA BUS STAND ON RHS OF NH 57 (NAYAGARH TO DASPALLA DIRECTION)	NAYAGARH	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
.30	BETWEEN PITRI CHOWK AND BALHAR CHOWK ON EITHER SIDE OF NH 53	DHENKANAL	Regular	190	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
	BETWEEN DHENKANAL BUS STAND AND DHENKANAL AUTONOMOUS COLLEGE VIA TOWN POLICE STATION.	DHENKANAL	Regular	100	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
32	WITHIN 5KMS OF ITAMATI POLICE STATION ON EITHER SIDE OF NH 57	NAYAGARH	Regular	150	OPEN CC 2	DC	35	35	1225	32	95	Draw of Lots	15	5
1 33 1	WITHIN 5KM OF RENGALI DAM CHOWK TOWARDS KANIHA ON EITHER SIDE OF NH 53.	ANGUL	Regular	150	OBC CC 1	DC	35	35	1225	32	95	Draw of Lots	15	4
34	WITHIN 18 KMS OF KHAMAR POLICE STATION ON EITHER SIDE OF NH 149	ANGUL	Regular	150	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
35	WITHIN 5 KMS OF GUDIAKATENI CHOWK TOWARDS ANGUL ON EITHER SIDE OF NH 55	DHENKANAL	Regular	155	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
	WITHIN RANPUR NAC LIMIT	NAYAGARH	Regular	100	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
37	BETWEEN BIMALBEDA CHOWK AND ANGUL RTO OFFICE (VIA BADAKERA) ON EITHER SIDE OF NH 55	ANGUL	Regular	150	OBC	CC	35	35	1225	32	12	Bidding	30	4
	WITHIN 10 KMS OF KAMAKHYA CHOWK (DHENKANAL) TOWARDS ANGUL ON EITHER SIDE OF NH 55	DHENKANAL	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
39	WITHIN 5 KM FROM MADHAPUR HIGH SCHOOL TOWARDS KIAKATA ON SH62	ANGUL	Regular	100	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
40	WITHIN ANGUL MUNICIPALITY LIMIT (NOT ON NH)	ANGUL	Regular	110	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
41	WITHIN 10 KMS OF BHUBAN POLICE STATION ON EITHER SIDE OF NH 53	DHENKANAL	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
42	WITHIN 8KMS OF GOVT UP SCHOOL (GODISAHI, KANGULA) ON RHS OF NH 655(EARLIER SH 64) (ANGUL TO MAHIDHARPUR DIRECTION)	ANGUL	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
43	WITHIN 8KMS OF GOVT UP SCHOOL (GODISAHI, KANGULA) ON LHS OF NH 655(EARLIER SH 64) (ANGUL TO MAHIDHARPUR DIRECTION)	ANGUL	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
44	BETWEEN RTO OFFICE (ANGUL) AND BANARPAL NUAHATA BYEPASS CHOWK ON LHS OF NEW PROPOSED BYEPASS NH 55 VIA KHALARI (RTO OFFICE TO BANARPAL DIRECTION)	ANGUL	Regular	200	OPEN	CC	35	35	1225	32	12	Bidding	30	5
	WITHIN 10 KMS OF GUDIAKATENI CHOWK TOWARDS DHENKANAL ON EITHER SIDE OF NH 55	DHENKANAL	Regular	155	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4

Location SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		ım Dimension f the site (in S	•		hs)	Mode of selection	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
46	WITHIN 10 KMS OF MATHAKARGOLA CHOWK ON EITHER SIDE OF NH 53	DHENKANAL	Regular	150	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
47	BETWEEN BOINDA CHOWK AND BAMUR CHOWK ON EITHER SIDE OF NH 55	ANGUL	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
48	WITHIN 2 KM FROM TARINI CHOWK, CHADEIDHARA TOWARDS CHANDIKHOL ON NH 53	JAJPUR	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
49	WITHIN 10 KM FROM HALDIAGODA CHOWK TOWARDS CHANDIKHOL ON NH 53	KENDRAPARA	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
50	WITHIN 10 KM FROM BAITARANI BRIDGE,SATHIPUR END ON NH 16 TOWARDS CUTTACK ON NH 16	JAJPUR	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
51	WITHIN 10 KM FROM TARAPUR CHOWK TOWARDS CUTTACK ON NH 316A	JAGATSINGHPUR	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
52	WITHIN JAGATSINGHPUR MUNICIPALITY LIMITS NOT ON NH 55	JAGATSINGHPUR	REGULAR	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
53	WITHIN 8 KM FROM DUBURI CHOWK TOWARDS CHANDIKHOL ON NH 53	JAJPUR	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
54	WITHIN 7 KM FROM SHIRIDI SAI MANDIR, NEAR NATIONAL RICE RESEARCH INSTITUTE ON NH 55, TOWARDS PARADEEP WITHIN A MA FROM SHIRIDING COMMERCED TO THE STATE OF THE SHIRIDING COMMERCED TO T	CUTTACK	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
55	WITHIN 10 KM FROM BHUTMUNDAI CHOWK TOWARDS CUTTACK ON SH 12	JAGATSINGHPUR	REGULAR	100	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
56	WITHIN 5 KM FROM PARADEEP LOCK POLICE STATION TOWARDS CHANDIKHOL ON NH 53	JAGATSINGHPUR	REGULAR	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
57	WITHIN 4 KM FROM REGIONAL TRANSPORT OFFICE KENDRAPARA ON NH 53 TOWARDS CHANDIKHOL	KENDRAPARA	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
58	WITHIN 7 KM FROM KUAKHIA FLYOVER TOWARDS BALASORE ON NH 16	Jajpur	REGULAR	150	OPEN	CC	35	35	1225	32	12	Bidding	30	5
59	WITHIN 11 KM FROM KAYANGOLA MARKET CHOWK,KAYANGOLA TOWARDS JAJPUR TOWN ON NH 20	JAJPUR	REGULAR	150	OBC PH	DC	35	35	1225	32	95	Draw of Lots	15	4
60	WITHIN 6 KM FROM BORIKINA CHOWK TOWARDS JAGATSINGHPUR ON NH 55	JAGATSINGHPUR	REGULAR	150	ST PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
61	WITHIN 16 KM FROM CHANDIKHOL FLYOVER TOWARDS CUTTACK ON NH 16	JAJPUR	REGULAR	150	OPEN	CC	35	35	1225	32	12	Bidding	30	5
62	WITHIN 15 KM FROM KUAKHIA FLYOVER TOWARDS CUTTACK ON NH 16	JAJPUR	REGULAR	150	OPEN	CC	35	35	1225	32	12	Bidding	30	5
	WITHIN 10 KM FROM SREE JAGANNATH TEMPLE TALADANDA TOWARDS CUTTACK ON SH 12	JAGATSINGHPUR	REGULAR	100	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
64	WITHIN 20 KM FROM PANIKOILI CHOWK TOWARDS KEONJHAR ON NH 20	JAJPUR	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
65	WITHIN 5 KM FROM P P COLLEGE NISCHINTKOILI ON SH 9A TOWARDS CUTTACK	CUTTACK	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
66	WITHIN 20 KM FROM DUBURI CHOWK TOWARDS JANDAPAL CHOWK ON NH 720	JAJPUR	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
67	WITHIN 10 KM FROM PANCHMUKHI CHOWK TOWARDS ANGUL ON SH64	CUTTACK	REGULAR	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
68	FROM MILITARY CHOWK (NEAR JAJPUR ROAD) TO FIRE STATION CHOWK (JAJPUR ROAD) ON NEW BYPASS ROAD	JAJPUR	REGULAR	100	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5

Location SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		m Dimension f the site (in So	•	•	by the applicant (Rs in	Mode of selection	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural		SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
69	WITHIN 6 KM FROM NIALI CHOWK TOWARDS CHARICHAK ON NH 316A	CUTTACK	REGULAR	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
	WITHIN 7 KM FROM CHANDIKHOL FLYOVER CHOWK TOWARDS PARADEEP ON NH 53	JAJPUR	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
71	FROM NILACHAL ISPAT ENTRY GATE TO DUBURI CHOWK ON SH 20	JAJPUR	REGULAR	100	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
72	WITHIN 10 KM FROM BALIKUDA POLICE STATION CHOWK TOWARDS JAGATSINGHPUR ON NH 55	JAGATSINGHPUR	REGULAR	150	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
73	WITHIN 10 KM FROM BANGLA CHOWK TOWARDS CHANDIKHOL ON NH 53	JAJPUR	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
74	WITHIN 5 KM FROM PANCHMUKHI CHOWK TOWARDS ATHAGARH ON SH 65	CUTTACK	REGULAR	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
75	WITHIN 12 KM FROM GOBINDPUR CHOWK,NEAR TANGI ON NH 16 TOWARDS BHUBANESWAR	CUTTACK	REGULAR	150	OPEN	СС	35	35	1225	32	12	Bidding	30	5
76	WITHIN 10 KM FROM ADALA CHOWK, NEAR REGEDA TOWARDS MANGULI ON NH 55	CUTTACK	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
77	WITHIN 14 KM FROM RAMBAGH CHOWK TOWARDS DASRATHPUR ON NH 20	JAJPUR	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
78	WITHIN 9 KM FROM PHULNAKHARA FLYOVER CUTTACK END ON NH 16 TOWARDS BALASORE	CUTTACK	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
79	WITHIN 2 KM FROM NITYANAND HOSPITAL ON CANAL ROAD WITHIN CUTTACK MUNICIPALITY LIMITS	CUTTACK	REGULAR	150	OPEN	CC	30	17	510	32	12	Bidding	30	5
80	WITHIN 6 KM FROM JAGATPUR GOLEI CHOWK TOWARDS KENDRAPARA	CUTTACK	REGULAR	150	OPEN	CC	30	20	600	32	12	Bidding	30	5
81	FROM NAYABAZAR CHOWK TO OMP CHOWK ON TALADANDA CANAL ROAD	CUTTACK	REGULAR	150	OPEN	DC	30	20	600	32	75	Draw of Lots	15	5
82	WITHIN 12 KM FROM KANDARPUR CHOWK TOWARDS PARADEEP ON NH 316A	CUTTACK	REGULAR	150	OBC CC 1	DC	35	35	1225	32	95	Draw of Lots	15	4
83	WITHIN 5 KM FROM MALAPATANA UP SCHOOL TOWARDS PATTAMUNDAI ON NH 316A	KENDRAPARA	REGULAR	150	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
84	WITHIN BYASANAGAR MUNICIPALITY LIMITS	JAJPUR	REGULAR	100	OPEN PH	DC	20	20	400	32	55	Draw of Lots	15	5
85	WITHIN 7 KM OF SHISHUA CHOWK, SALIPUR ON SH 9A TOWARDS CUTTACK	CUTTACK	REGULAR	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
86	WITHIN 10 KM FROM MANGULI CHHAK TOWARDS SAMBALPUR ON NH55	CUTTACK	REGULAR	150	OPEN	DC	35	45	1575	32	95	Draw of Lots	15	5
	WITHIN 7 KM FROM KUAKHIA FLYOVER TOWARDS JAJPUR ON NH 20	JAJPUR	REGULAR	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
88	WITHIN 17 KM FROM KURUNGA BAZAR CHOWK TOWARDS NIALI ON NH 316A	CUTTACK	REGULAR	150	OPEN	СС	35	35	1225	32	12	Bidding	30	5
89	FROM RAGADIPADA CHOWK TO GANDHI CHOWK ON SH 65	CUTTACK	REGULAR	100	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
90	WITHIN 3 KM FROM ORANDA CHOWK ON RHS TOWARDS KHUNTUNI ON NH 55	CUTTACK	REGULAR	150	OPEN	CC	35	35	1225	32	12	Bidding	30	5
	WITHIN 12 KM FROM PANCHUPANDAB CHOWK TOWARDS CHANDIKHOL ON NH 53	JAJPUR	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
	WITHIN 6 KMS FROM MAA SATABHUNI TEMPLE CHOWK TOWARDS ARADI ON BHADRAK-ARADI HIGHWAY	BHADRAK	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3

Location SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		m Dimension the site (in S	•	Lak	by the applicant (Rs in	Mode of selection	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
	WITHIN 5 KMS FROM CHITRADA BUS STOP ON BARIPADA - AMARADA		Regular / Rural	MS+HSD in KLs	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
	ROAD, SH-61	MAYURBHANJ	Regular	100	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
	WITHIN MUNICIPAL LIMIT OF BALASORE	BALASORE	Regular	160	OPEN	CC	20	20	400	32	12	Bidding	30	5
95	WITHIN 5KMS FROM BONTH POST OFFICE ON ANANDPUR-BHADRAK ROAD	BHADRAK	Regular	100	OPEN CC 1	DC	30	30	900	32	75	Draw of Lots	15	5
	WITHIN 3KMS FROM GOVT GIRLS HIGH SCHOOL DUMADIHI TOWARDS BAHALDA ON NH-220	MAYURBHANJ	Regular	210	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
	WITHIN 2KMS FROM GOVT FAKIRMOHAN M.E. SCHOOL, SINDOL TOWARDS CHANDBALI ON BHADRAK -CHANDBALI ROAD, RHS	BHADRAK	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
98 .	WITHIN 6KMS FROM PANDIT RAGUNATH MURMU CHHAK, BISOI TOWARDS BANGRIPOSI ON MUMBAI KOLKATA HIGHWAY	MAYURBHANJ	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
	LHS, BETWEEN SERGARH TOLL PLAZA TO BAHANAGA ON NH-16	BALASORE	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
100	WITHIN MUNICIPAL LIMIT OF BHADRAK	BHADRAK	Regular	170	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
101	WITHIN 5 KMS FROM DUKURA GOVT HOSPITAL(CHC),DUKURA ON UDALA -BARIPADA STATE HIGHWAY	MAYURBHANJ	Regular	120	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
102	LHS, WITHIN 5 KM FROM RANITAL CHOWK TOWARDS BALASORE ON NH 16	BALASORE	Regular	190	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
	WITHIN 4KM FROM KOTHAR CHOWK TOWARDS ARADI ON KOTHAR- DHUSARI SH	BHADRAK	Regular	120	OPEN	CC	30	30	900	32	12	Bidding	30	5
104	BETWEEN GOVT HIGH SCHOOL, JASHIPUR AND BISOI CHOWK ON MUMBAI-KOLKATA HIGHWAY	MAYURBHANJ	Regular	200	OBC	Dc	35	35	1225	32	95	Draw of Lots	15	4
105	BETWEEN NUNIAJODI BRIDGE AND TOWN HALL CHOWK , WITHIN MUNICIPAL LIMIT OF BALASORE	BALASORE	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	WITHIN 2 KM FROM TUDIGADIA POSTOFFICE TOWARDS SORO ON SORO-KUPARI ROAD	BALASORE	Regular	100	OPEN	Dc	30	30	900	32	75	Draw of Lots	15	5
	WITHIN 4 KMS FROM KENDRIYA VIDYALAYA MAHULDIHA, RAIRANGPUR TOWARDS BAHALADA ON NH220 RHS,FROM NEW BHADRAK DISTRICT COURT TO BAITARANI RIVER	MAYURBHANJ	Regular	260	OPEN	DC	40	45	1800	32	95	Draw of Lots	15	5
108	rhs, from New Shadrak district court to Battarani River Bridge on Bhadrak-Cuttack Highway Within Municipal Limit of Baripada	BHADRAK MAYURBHANJ	Regular Regular	150 190	OBC ST	DC CFS	35 20	35 20	1225 400	32	95 0	Draw of Lots Draw of Lots	15 0	3
	WITHIN MUNICIPAL LIMIT OF BARIFADA RHS,WITHIN 5 KMS FROM ADANI PORT SQUARE / RAILWAY CROSSING TOWARDS BHADRAK	BHADRAK	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
111	TOWARDS BHADRAN WITHIN 2KM FROM KAMARDA POLICE STATION TOWARDS JALESWAR, LHS	BALASORE	Regular	180	OBC	Dc	35	35	1225	32	95	Draw of Lots	15	4
	MITHIN 6 KMS FROM BASUDEVPUR POLICE STATION TOWARDS JAMJHADI ON DHAMRA-JAMJHADI HIGHWAY	BHADRAK	Regular	150	OPEN	Dc	35	35	1225	32	95	Draw of Lots	15	5
	WITHIN SORO MUNCIPALITY	BALASORE	Regular	150	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
11/	WITHIN 4 KM From KALABADIA BUS STOP TOWARDS PATHURI ON KALABADIA BANGRIPOSI HIGHWAY	MAYURBHANJ	Regular	130	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
115	RHS, BETWEEN BAHANAGA TO MARKONA CHOWK ON BALASORE- BHADRAK NH-16	BALASORE	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
116	BETWEEN BAITARANI RIVER BRIDGE AND SINGDA CHOWK ON MUMBAI- KOLKATA HIGHWAY,RHS (DIRECTION BAITARANI RIVER BRIDGE TO SINGDA CHOWK)	MAYURBHANJ	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
117	WITHIN BERHAMPUR MUNICIPAL LIMIT	GANJAM	Regular	160	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
118	WITHIN 7 KMS FROM PIPILI TOLL GATE ON NH-316	PURI	Regular	170	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3

Location SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		m Dimension f the site (in So	•		(hs)	Mode of selection	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
	WITHIN 3 KMS FROM SIMOR GRAM PANCHAYAT OFFICE TOWARDS		Regular / Rural	MS+HSD in KLs	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
119	KALAPATTHAR ON SH	KHORDHA	Regular	100	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
120	WITHIN JATNI MUNICIPAL LIMIT ON SH-13	KHORDHA	Regular	100	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
121	WITHIN 10 KMS FROM MANGALAGHAT SQUARE ON NH-316	PURI	Regular	170	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
122	WITHIN 10 KMS FROM BRAHMAGIRI POLICE STATION ON NH-316	PURI	Regular	155	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
123	WITHIN 5 KMS FROM MAA CHHINA MASTA MANDIR TOWARDS KODALA ON SH-30 WITHIN 7 KMS FROM JUNCTION OF NH-16 AND SH-13 NEAR KHURDA	GANJAM	Regular	110	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
124	ON NH-16	KHORDHA	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
125	WITHIN 4 KMS FROM KARGIL READYMIX PLANT, KAIPADAR ON RHS TOWARDS BALUGAON ON NH-16	KHORDHA	Regular	190	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
126	WITHIN 2 KMS FROM PARVATI RICE MILL, KERINDITOLA TOWARDS PURUSHOTTAMPUR ON SH-32	GANJAM	Regular	120	OBC	CC	30	30	900	32	12	Bidding	30	4
127	WITHIN 10 KMS FROM RAGHUNATHPUR JUNCTION ON NH-16	GANJAM	Regular	175	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
128	WITHIN 3 KMS FROM KODALA BUS STAND TOWARDS KHALLIKOTE ON SH-30	GANJAM	Regular	115	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
129	WITHIN 5 KM FROM FROM KHURDA DISTRICT HOSPITAL TOWARDS NAYAGARH ON NH 57	KHORDHA	Regular	165	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
130	WITHIN 5 KMS FROM ASTA VINAYAK MOTORS PVT LIMITED, CHHATRAPUR TOWARDS BERHAMPUR ON NH-16	GANJAM	Regular	170	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
131	WITHIN 3 KMS FROM ISKCON TEMPLE, BRAHMAPUR ON NH-16	GANJAM	Regular	175	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
132	WITHIN 4 KMS FROM PICHUKULI POST OFFICE ON NH-57	KHORDHA	Regular	160	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
133 134	WITHIN 5 KMS FROM DURGA DHABA, KANHEIPUR ON NH-16 WITHIN 5 KMS FROM COMMUNITY HEALTH CENTRE, R UDAYGIRI ON	KHORDHA GAJAPATI	Regular	180 170	OPEN CC 2 OBC CC 1	DC DC	35 35	35 35	1225 1225	32	95 95	Draw of Lots	15 15	5
	NH-326A WITHIN 5 KMS FROM KANAKA CHOWK ON NH-16 ON RHS TOWARDS		Regular									Draw of Lots		
	BHUBANESWAR WITHIN PURI MUNICIPAL LIMIT	GANJAM	Regular	175	OPEN	CC	35	35	1225	32	12	Bidding	30	5
136		PURI	Regular	120	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
137	WITHIN 4 KMS FROM TARA TARINI JUNCTION TOWARDS PAGALABABA SQUARE ON SH-32 FROM CHAINAGE NUMBER 470.00 TO 480.00 ON NH-16 ON RHS WHILE	GANJAM	Regular	110	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
	TRAVELLING FROM BERHAMPUR TOWARDS ANDHRA PRADESH (IN ODISHA STATE)	GANJAM	Regular	150	OPEN	CC	35	35	1225	32	12	Bidding	30	5
139	WITHIN 10 KMS FROM KUHUDI BUS STAND ON NH-16 IN KHURDA DISTRICT	KHORDHA	Regular	180	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
140	WITHIN 5 KM FROM BTM BYPASS CHOWK TOWARDS RAIGARH ON JHARSUGUDA RAIGARH NH	JHARSUGUDA	Regular	395	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
141	WITHIN 5 KMS FROM BOLANGIR COLLECTORATE IN ANY MAJOR ROAD (NOT ON NH OR SH)	BOLANGIR	Regular	180	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
142	WITHIN 2 KM ON EITHER SIDE OF BARGAON HIGH SCHOOL ON SAMBALPUR SONEPUR SH	SAMBALPUR	Regular	150	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
143	WITHIN 1.5 KM OF DHANUPALI CHOWK IN SAMBALPUR TOWARDS SINDURPANK CHOWK	SAMBALPUR	Regular	150	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
144	WITHIN 2 KM ON EITHER SIDE OF VILLAGE BAMRA ON BAMRA KUCHINDA ROAD	SAMBALPUR	Regular	150	OBC	DC	30	30	900	32	75	Draw of Lots	15	4

Location Sl. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		m Dimension the site (in S		Finance to be arranged Lak	hs)	selection	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
145	WITHIN 8 KM FROM MAIN GATE OF GOVT UPPER PRIMARY SCHOOL KOTAGAD TOWARDS MUNIGUDA ON SH 5	KANDHAMAL	Regular	150	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
146	WITHIN 1 KM ON EITHER SIDE OF MILESTONE 19 ON RHS OF SAMBALPUR TO ROURKELA SH	SAMBALPUR	Regular	250	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
147	WITHIN MUNICIPAL LIMIT OF SAMBALPUR CITY	SAMBALPUR	Regular	150	OPEN CC 1	DC	20	20	400	32	55	Draw of Lots	15	5
148	WITHIN SONEPUR MUNICIPALITY LIMIT ON ANY MAJOR ROAD	SONEPUR	Regular	150	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
149	WITHIN 5 KM FROM MAIN GATE OF SUB DIVISIONAL HOSPITAL BALIGUDA ON NH 59 TOWARDS TUMUDIBANDH	KANDHAMAL	Regular	160	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
150	WITHIN 2 KM ON EITHER SIDE OF GOVERNMENT POLYTECHNIC COLLEGE IN BARGARH ON BARGARH BHATLI ROAD SH	BARGARH	Regular	160	OPEN	CC	30	30	900	32	12	Bidding	30	5
151	WITHIN 1 KM FROM AMBAPALI CHOWK IN BARGARH	BARGARH	Regular	150	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
152	WITHIN 2 KM FROM JMFC COURT KANTAMAL TOWARDS MANAMUNDA ON SH 41	BOUDH	Regular	160	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
153	WITHIN 5 KM FROM GANDHI CHOWK BARPALI TOWARDS BOLANGIR ON BARGARH BOLANGIR NH	BARGARH	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
154	WITHIN 2 KM ON EITHER SIDE OF JSW BHUSHAN POWER AND STEEL ON SAMBALPUR JHARSIGUDA SH	SAMBALPUR	Regular	240	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
155	FROM MILESTONE NUMBER 209 TO 211 ON LHS OF JHARSUGUDA RAIGARH NH	JHARSUGUDA	Regular	330	OPEN	СС	35	35	1225	32	12	Bidding	30	5
156	WITHIN 3 KM FROM BHATLI CHOWK BARGARH TOWARDS BHATLI ON BARGARH BHATLI SH	BARGARH	Regular	220	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
157	WITHIN 5 KM OF GANGA MOTORS BADMAL ON SH 10 TOWARDS JHARSUGUDA LHS	JHARSUGUDA	Regular	130	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
158	WITHIN 3 KM ON EITHER SIDE OF CHARMAL POLICE STATION ON SAMBALPUR CUTTACK NH	SAMBALPUR	Regular	290	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
159	WITHIN 4 KM OF BHOJPUR HIGH SCHOOL IN BHOJPUR TOWARDS DEOGARH ON KUCHINDA DEOGARH NH	SAMBALPUR	Regular	200	OBC PH	DC	35	35	1225	32	95	Draw of Lots	15	4
160	WITHIN 3 KM ON EITHER SIDE OF ADITYA ALUMINIUM ON SAMBALPUR JHARSUGUDA SH ON LHS	SAMBALPUR	Regular	340	OPEN	CC	35	50	1750	32	12	Bidding	30	5
161	WITHIN 5 KM FROM BARGHAT SHIV MANDIR NEAR IB BRIDGE TOWARDS RAIGARH ON NH	JHARSUGUDA	Regular	300	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
162	WITHIN 2 KM ON EITHER SIDE OF PRIMARY HEALTH AND WELLNESS CENTRE IN KHUNTIGORA ON SH 41.	BOUDH	Regular	200	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
163	WITHIN 3 KMS FROM BLOCK OFFICE OF RAIKIA ON SH 7A	KANDHAMAL	Regular	150	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
164	WITHIN 3 KM ON EITHER SIDE OF ANANDA SAMVRDDHI VIDYA PEETH (ASVP) ON JHARSUGUDA KOLABIRA NH	JHARSUGUDA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
165	WITHIN 4 KM ON EITHER SIDE OF BHABANIPALI HIGH SCHOOL BHABANIPALI ON SAMBALPUR CUTTACK NH	SAMBALPUR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
166	WITHIN 3 KM ON EITHER SIDE OF KABRIBAHAL CHOWK ON KUCHINDA BAMRA SH	SAMBALPUR	Regular	100	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
167	WITHIN 3 KM ON EITHER SIDE OF RUSHUBHA MEHER RICEMILL ON BARPALI SCHELA ROAD	BARGARH	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
168	WITHIN 4 KM ON EITHER SIDE OF PANCHGAON CHOWK IN VILLAGE PANCHGAON ON JHARSUGUDA RAIGARH NH	JHARSUGUDA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
169	WITHIN 4 KM ON EITHER SIDE OF BIJU PATTNAIK CHOWK ON SH 10.	JHARSUGUDA	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5

Location SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		m Dimension f the site (in S	•	Finance to be arranged Lak	hs)	Mode of selection	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
	within 5 km of Sri Ram oil gate on godbhaga Sindurbahal Sh		Regular / Rural	MS+HSD in KLs	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
170	TOWARDS SINDURBAHAL	BARGARH	Regular	100	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
171	WITHIN 3 KM ON EITHER SIDE OF KUSMI CHOWK ON KUCHINDA BYPASS NH	SAMBALPUR	Regular	150	OBC	СС	35	35	1225	32	12	Bidding	30	4
172	WITHIN 5 KM OF GOEBAHALI CHOWK ON SOHELA NUAPADA ROAD TOWARDS NUAPADA	BARGARH	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
173	WITHIN 10 KM FROM AINTHAPALI CHOWK IN SAMBALPUR TOWARDS JHARSUGUDA ON SH 10 on RHS	SAMBALPUR	Regular	250	OPEN CC 1	DC	35	35	1225	32	75	Draw of Lots	15	5
174	WITHIN 5 KM OF BIJU PATTNAIK CHOWK BOUDH ON NH 57 (NEW BYPASS) TOWARDS NAYAGARH	BOUDH	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
	WITHIN 4 KM ON EITHER SIDE OF SHYAMJI RICE MILL ON BARPALI BOLANGIR NH	SONEPUR	Regular	200	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
	WITHIN 5 KM FROM PADAMPUR CHOWK TOWARDS PADAMPUR ON SOHELA NUAPADA SH	BARGARH	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
177	WITHIN 3 KM ON EITHER SIDE OF SARANDAPALI SQUARE ON SOHELA- BARPALI NH	BARGARH	Regular	200	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
178	WITHIN 5 KM OF CHARBANGLA CHOWK TOWARDS BOLANGIR ON BARGARH BOLANGIR NH	BARGARH	Regular	150	OBC	CC	35	35	1225	32	12	Bidding	30	4
179	within 2 km on either side of Governement Primary School in Kanjuharan on Jharsuguda Raigarh Nh	JHARSUGUDA	Regular	250	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
180	WITHIN 1 KM FROM VEDANTA MAIN GATE IN JHARSUGUDA ON NEW VEDANTA ROAD	JHARSUGUDA	Regular	350	OPEN	DC	40	40	1600	32	55	Draw of Lots	15	5
181	WITHIN 5 KM OF AINTHAPALI CHOWK TOWARDS JAMADARPALI ON SAMBALPUR AIRPORT ROAD	SAMBALPUR	Regular	100	ST CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
182	WITHIN 3 KM ON EITHER SIDE OF PADAMPUR SUB JAIL ON NUAPADA SOHELA SH	BARGARH	Regular	100	OBC CC 1	DC	30	30	900	32	75	Draw of Lots	15	4
183	BETWEEN KM STONE 255 AND KM STONE 286 ON NH143 RHS TOWARDS RAJAMUNDA	SUNDERGARH	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
184	From KM Stone No 102 to KM Stone No 110 on SH-10 towards Sambalpur on LHS	SUNDERGARH	Regular	120	OPEN PH	DC	35	35	1225	32	75	Draw of Lots	15	5
185	BETWEEN KM STONE 255 AND KM STONE 286 ON NH143 LHS TOWARDS RAJAMUNDA	SUNDERGARH	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
186	FROM KM STONE 239 TO KM STONE 255 RHS TOWARDS LATHIKATA ON NH143	SUNDERGARH	Regular	170	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
	From Km Stone No 145 to Km Stone No 154 on SH-10 towards Rourkela on RHS	SUNDERGARH	Regular	140	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
188	From KM Stone No 97 to KM Stone No 107 on LHS towards Rourkela on SH-10	SUNDERGARH	Regular	120	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
189	within 36 km from Bimalagarh Bridge Towards Barbil on NH520 on Either Side	SUNDERGARH	Regular	250	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
190	Within 10 KM from Kutra Police Station on SH-10 towards Sambalpur on RHS	SUNDERGARH	Regular	120	OPEN	CC	35	35	1225	32	12	Bidding	30	5
191	Within 5 km from Masnikani Toll Plaza on SH-10 LHS towards Sambalpur	SUNDERGARH	Regular	120	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
192	ON CONNECTING ROAD FROM OLD BRAHMANI BRIDGE TO VEDVYAS CHOWK	SUNDERGARH	Regular	150	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5

Location SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		ım Dimension f the site (in S		Lak	by the applicant (Rs in hs)	Mode of selection	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
	FROM KM STONE 239 TO KM STONE 255 LHS TOWARDS LATHIKATA ON		Regular / Rural	MS+HSD in KLs	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
193	NH143	SUNDERGARH	Regular	170	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
194	WITHIN 20 KM FROM KARAMDIHI CHOWK (UNDER OVERBRIDGE) TOWARDS SUBDEGA ON SH24	SUNDERGARH	Regular	120	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
195	WITHIN 1 KM FROM MAIN GATE OF JAY PRAKASH HOSPITAL AND RESEARCH CENTER, ROURKELA	SUNDERGARH	Regular	150	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
196	WITHIN 22 KM FROM INTERSECTION OF NH20 AND NH220 AT DHENKIKOTE ON NH20 LHS TOWARDS KEONJHAR	KEONJHAR	Regular	150	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
197	WITHIN 15 KM FROM BHADRASAHI LHS TOWARDS KEONJHAR ON NH520	KEONJHAR	Regular	330	OBC	СС	35	35	1225	32	12	Bidding	30	4
198	WITHIN 15 KM FROM BHADRASAHI RHS TOWARDS KEONJHAR ON NH520	KEONJHAR	Regular	200	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
199	FROM RAGHUNATHPALLI POLICE STATION, ROURKELA TO BSNL CHOWK, CHHEND VIA OVERBRIDGE	SUNDERGARH	Regular	150	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
200	From KM Stone 74 to Km Stone No 77 on SH-10	SUNDERGARH	Regular	120	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
201	WITHIN KALUNGA INDUSTRIAL ESTATE ON MAJOR ROAD	SUNDERGARH	Regular	110	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
202	WITHIN 17 KM FROM JUNCTION POINT OF NH143 AND NH520 NEAR RAJAMUNDA BSNL OFFICE ON NH520 RHS TOWARDS KOIRA	SUNDERGARH	Regular	250	OPEN	CC	35	35	1225	32	12	Bidding	30	5
203	WITHIN 25 KM FROM SADAR POLICE STATION, KEONJHAR ON NH20 RHS TOWARDS GHATGAON	KEONJHAR	Regular	200	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
	FROM SUNDERGARH ENGINEERING SCHOOL KERAI TO SUNDERGARH DISTRICT BORDER NEAR BIRMITRA GATE TOWARDS SAMBALPUR RHS ON SH10	SUNDERGARH	Regular	120	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
205	WITHIN 15 KM FROM JUNCTION POINT OF NH520 AND NH20 NEAR PARSORA RHS TOWARDS BHADRSAHI ON NH520	KEONJHAR	Regular	330	OPEN	CC	35	35	1225	32	12	Bidding	30	5
206	WITHIN 6 KM FROM COMMUNITY HEALTH CENTRE, JODA TOWARDS BAMEBARI ON EXPRESSWAY (JODA BAMEBARI ROAD)	KEONJHAR	Regular	160	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
207	FROM KM STONE 515 TO KM STONE 523 ON NH49 LHS TOWARDS KHARAGPUR	KEONJHAR	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
208	WITHIN 17 KM FROM JUNCTION POINT OF NH143 AND NH520 NEAR RAJAMUNDA BSNL OFFICE ON NH520 LHS TOWARDS KOIRA	SUNDERGARH	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
209	WITHIN 24 KM FROM VEDVYAS CHOWK ON NH143 TOWARDS BIRMITRAPUR	SUNDERGARH	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
210	WITHIN 22 KM FROM JUNCTION POINT OF NH520 AND NH20 NEAR PARSORA LHS TOWARDS KEONJHAR ON NH20	KEONJHAR	Regular	330	OPEN	СС	35	35	1225	32	12	Bidding	30	5
211	WITHIN 18 KM FROM BHADRASAHI RHS TOWARDS GUALI ON NH520	KEONJHAR	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
212	WITHIN 7 KM FROM BAMEBARI POST OFFICE TOWARDS JODA ON EXPRESSWAY(JODA- BAMEBARI ROAD)	KEONJHAR	Regular	160	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
213	WITHIN 25 KM FROM SADAR POLICE STATION, KEONJHAR ON NH20 LHS TOWARDS GHATGAON	KEONJHAR	Regular	250	OPEN	СС	35	35	1225	32	12	Bidding	30	5
214	WITHIN 22 KM FROM INTERSECTION OF NH20 AND NH220 AT DHENKIKOTE ON NH20 RHS TOWARDS KEONJHAR	KEONJHAR	Regular	200	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
215	FROM GOVERNMENT ITI, ANANDPUR TO RAMCHANDRAPUR POLICE STATION ON NH20 LHS TOWARDS JAJPUR	KEONJHAR	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4

Location SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		m Dimension the site (in S		Finance to be arranged Lak	hs)	selection	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
	BETWEEN KM STONE 432 AND KM STONE 460 ON NH49 LHS TOWARDS		Regular / Rural	MS+HSD in KLs	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
216	KEONJHAR	KEONJHAR	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
217	FROM KM STONE 495 TO KM STONE 515 ON NH49 LHS TOWARDS KHARAGPUR	KEONJHAR	Regular	240	OPEN	CC	35	35	1225	32	12	Bidding	30	5
218	FROM KM STONE 495 TO KM STONE 523 ON NH49 RHS TOWARDS KHARAGPUR	KEONJHAR	Regular	150	OPEN	СС	35	35	1225	32	12	Bidding	30	5
219	WITHIN 15 KM FROM JUNCTION POINT OF NH520 AND NH20 NEAR PARSORA LHS TOWARDS BHADRSAHI ON NH520	KEONJHAR	Regular	200	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
220	BETWEEN KM STONE 432 AND KM STONE 460 ON NH49 RHS TOWARDS KEONJHAR	KEONJHAR	Regular	180	OPEN	CC	35	35	1225	32	12	Bidding	30	5
221	WITHIN 10 KM FROM NEW BUS STAND, DEOGARH ON NH49 RHS TOWARDS KEONJHAR	DEOGARH	Regular	160	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
222	WITHIN MUNICIPAL LIMIT OF KEONJHAR ON MAJOR ROAD	KEONJHAR	Regular	130	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
223	BETWEEN KM STONE 460 AND KM STONE 488 ON NH49 RHS TOWARDS KEONJHAR	KEONJHAR	Regular	240	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
224	WITHIN 10 KM FROM SADAR POLICE STATION, KEONJHAR ON NH20 LHS TOWARDS BARBIL	KEONJHAR	Regular	200	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
225	WITHIN 27 KM FROM JUNCTION POINT OF NH49 AND NH143 AT BARKOTE ON NH49 RHS TOWARDS SAMBALPUR	DEOGARH	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
226	WITHIN 22 KM FROM JUNCTION POINT OF NH520 AND NH20 NEAR PARSORA RHS TOWARDS KEONJHAR ON NH20	KEONJHAR	Regular	200	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
227	WITHIN 10 KM FROM SADAR POLICE STATION, KEONJHAR ON NH20 RHS TOWARDS BARBIL	KEONJHAR	Regular	330	OPEN	DC	50	50	2500	32	95	Draw of Lots	15	5
228	WITHIN 15 KM FROM JUNCTION POINT OF NH49 AND NH143 AT BARKOTE ON NH143	DEOGARH	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
229	BETWEEN KM STONE 460 AND KM STONE 488 ON NH49 LHS TOWARDS KEONJHAR	KEONJHAR	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
230	WITHIN 18 KM FROM JUNCTION POINT OF NH49 AND NH143 AT BARKOTE ON NH49 RHS TOWARDS KEONJHAR	DEOGARH	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
231	FROM INTERSECTION POINT OF NH20 AND NH220 AT DHENKIKOTE TO GOVERNMENT ITI, ANANDPUR ON NH20 LHS TOWARDS JAJPUR	KEONJHAR	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
232	WITHIN 15 KM FROM JUNCTION POINT OF NH49 AND NH143 AT BARKOTE ON NH49 LHS TOWARDS SAMBALPUR	DEOGARH	Regular	180	OPEN CC 2	DC	35	35	1225	32	95	Draw of Lots	15	5
233	Within 10 KM from Bargaon Police Station on SH-10 towards Rourkela on RHS	SUNDERGARH	Regular	120	OBC CC 1	DC	35	35	1225	32	75	Draw of Lots	15	4
234	WITHIN 18 KM FROM BHADRASAHI LHS TOWARDS GUALI ON NH520	KEONJHAR	Regular	320	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
235	WITHIN 50 KM FROM JUNCTION POINT OF NH20 AND NH720 NEAR NARANPUR ON NH720 TOWARDS DUBURI	KEONJHAR	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
236	WITHIN THE MUNICIPAL LIMIT OF JODA	KEONJHAR	Regular	130	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
237	WITHIN 20 KM FROM VEDVYAS CHOWK ON SH 10 TOWARDS SAMBALPUR RHS	SUNDERGARH	Regular	120	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
238	WITHIN 5 KMS FROM POTTANGI FIRE STATION ON NH26	KORAPUT	Regular	240	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
239	WITHIN 3 KMS FROM KANTABANJI FIRE STATION ON KANTABANJI TUREKELA ROAD	BOLANGIR	Regular	150	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
240	WITHIN 2 KMS FROM AMBODALA POLICE STATION ON SH6	RAYAGADA	Regular	150	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5

Location SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		m Dimension the site (in So		Finance to be arranged Lak	by the applicant (Rs in	Mode of selection	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
	WITHIN 20 KMS FROM COLLEGE CHOWK IN BHAWANIPATNA TOWARDS		Regular / Rural		SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
241	KESINGA ON NH-26	KALAHANDI	Regular	220	OBC	CC	35	35	1225	32	12	Bidding	30	4
242	WITHIN 11 KMS FROM INTERSECTION OF NH 26 AND SH 48 AT BORIGUMMA TOWARDS RANIGAD ON SH 48 WITH IN 7 KMS FROM SUBASH BOSE CHOWK AT MALKANGIRI ON NH	KORAPUT	Regular	180	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
243	326	MALKANGIRI	Regular	300	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
244	WITHIN 20 KMS FROM LAXMIPUR POLICE STATION ON NH326 TOWARDS KORAPUT	KORAPUT	Regular	220	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
245	WITHIN 5 KMS FROM MAIN GATE OF LOISINGHA STADIUM MAIN GATE ON NH 26	BOLANGIR	Regular	170	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
246	From Km Stone No 9 to Km Stone No 14 on SH-5 WITHIN 3 KMS FROM GRAM PANCHAYAT OFFICE SIMANBADI TOWARDS	RAYAGADA	Regular	150	OPEN CC 1	CC	30	30	900	32	12	Bidding	30	5
247	BALIGUDA ON NH59 WITHIN 8 KMS FROM BHAWANIPATNA BUS STAND ON NH 26	KANDHAMAL	Regular	200	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
248	TOWARDS JUNAGARH	KALAHANDI	Regular	220	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
249	WITHIN 10 KMS FROM KALAMPUR CHOWK AT JUNAGARH ON MDR 117	KALAHANDI	Regular	200	OPEN	CC	30	30	900	32	12	Bidding	30	5
250	WITHIN 12 KMS FROM MAIN GATE OF NUAPADA COLLECTORATE TOWARDS RAJ KHARIAR ON NH353	NUAPADA	Regular	230	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
251	WITHIN 4 KMS FROM GOVT UPPER PRIMARY SCHOOL TAHANSIR ON NH26	KALAHANDI	Regular	200	OBC	CC	35	35	1225	32	12	Bidding	30	4
252	WITHIN 5 KMS FROM MAIN GATE OF POTTERU POLICE STATION ON NH 326	MALKANGIRI	Regular	170	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
253	WITHIN 7 KMS FROM COMMERCIAL TAX AND GST OFFICE NUAPADA OF KHARIAR ROAD TOWN TOWARDS NUAPADA ON NH353	NUAPADA	Regular	250	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
254	WITHIN 12 KMS FROM GIET UNIVERSITY GUNUPUR MAIN GATE TOWARDS BANGI ROAD JUNCTION ON SH4	RAYAGADA	Regular	180	OPEN	CC	30	30	900	32	12	Bidding	30	5
255	From Khamar Haldi Chowk to Amaguda Chowk on Biju Express Way	KALAHANDI	Regular	150	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
256	WITTHIN 4 KMS FROM COMMUNITY HEALTH CENTRE HATABHARANDI TOWARDS KUNDEI ON SH40	NABARANGPUR	Regular	150	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
257	WITHIN 3 KMS FROM COMMUNITY HEALTH CENTRE RAMANAGUDA ON NH 326	RAYAGADA	Regular	180	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
258	FROM KM STONE NO 10 TO KM STONE NO 13 ON SH46 NEAR DURGI	RAYAGADA	Regular	150	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
259	WITHIN 5 KMS GOVT HOSPITAL TITLAGARH ON NH59 TOWARDS BELGAN	BOLANGIR	Regular	210	OBC PH	DC	35	35	1225	32	95	Draw of Lots	15	4
260	WITHIN 5 KMS FROM GRAM PANCHAYAT OFFICE OF SALEBHATA ON NH 26	BOLANGIR	Regular	170	ST PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
261	WITH IN JEYPORE NAC LIMIT (NOT ON NH OR SH)	KORAPUT	Regular	200	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
262	WITHIN SEMILIGUDA NAC LIMIT ON SEMILIGUDA NANDPUR ROAD (NOT ON NH)	KORAPUT	Regular	160	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
263	WITHIN 5 KM FROM KALAHANDI COLLECTORATE MAIN GATE ON SH 44 TOWARDS THUAMUL RAMPUR	KALAHANDI	Regular	150	OBC	CC	30	30	900	32	12	Bidding	30	4
264	WITHIN 5 KMS FROM ODISHA STATE CIVIL SUPPLY CORPORATION LTD GODOWN IN U V 5 BURJA TOWARDS RAIGHAR ON SH 40	NABARANGPUR	Regular	200	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5

Location SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		ım Dimension f the site (in S		Lak	by the applicant (Rs in	Mode of selection	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural		SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
265	WITHIN 10 KM FROM JAGANNATH MANDIR MOTU ON NH 326 TOWARDS KALIMELA	MALKANGIRI	Regular	200	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
266	WITHIN 4 KMS FROM WAY SIDE AMMENITY CENTRE AMPANI TOWARDS DHARMAGARH ON BIJU EXPRESS WAY	KALAHANDI	Regular	160	OPEN	DC	35	45	1575	32	75	Draw of Lots	15	5
267	WITHIN 3 KMS FROM GOVT SUBDIVISIONAL HOSPITAL PATNAGARH TOWARDS KANTABANJI ON SH42	BOLANGIR	Regular	160	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
268	WITHIN 5 KM FROM DAYANIDHI CHOWK BHAWANIPATNA TOWARDS RAJAKHARIAR ON SH 16	KALAHANDI	Regular	150	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
	WITHIN 8 KM FROM THE FRONT GATE OF STATE INSTITUTE OF HOTEL MANAGEMENT BOLANGIR TOWARDS BHAWANIPATNA ON NH 26	BOLANGIR	Regular	170	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
270	WITHIN 3 KMS FROM MAIN GATE OF COMMUNITY HEALTH CENTRE AT CHUDAPALI ON SH 42 TOWARDS PATNAGARH	BOLANGIR	Regular	150	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
271	WITHIN 3 KMS FROM GOVERNMENT HIGHER SECONDARY SCHOOL AT KAILASHPUR (NEAR MUKUNDAPUR) ON NH326	RAYAGADA	Regular	200	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
272	WITHIN 5KMS FROM GANDHI CHOWK AT JEYPORE ON NH26 TOWARDS KORAPUT	KORAPUT	Regular	200	OPEN CC 1	CC	35	35	1225	32	12	Bidding	30	5
273	WITHIN 3 KMS FROM GRAM PANCHAYAT OFFICE PUINTALA ON NH 26	BOLANGIR	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
274	WITHIN 5 KMS FROM GANDHI CHOWK AT G UDAYAGIRI TOWARDS KALINGA ON SH 7A	KANDHAMAL	Regular	150	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
275	WITHIN 10 KMS FROM BOLANGIR COLLECTORATE TOWARDS PATNAGARH ON SH 42	BOLANGIR	Regular	160	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
276	WITHIN 3 KMS FROM GOVT HIGH SCHOOL SANKARAKHOL ON NH157	KANDHAMAL	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
277	WITHIN 2 KM FROM PANCHAYAT COLLEGE MAIN GATE PHIRINGIA ON SH 1	KANDHAMAL	Regular	150	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
278	WITHIN 4 KMS FROM ENTRY GATE OF COMMUNITY HEALTH CENTRE AT KALIMELA ON NH326	MALKANGIRI	Regular	170	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
279	WITHIN 3 KMS FROM INTERSECTION OF NH59 AND SH5 AT TUMUDIBANDH ON SH 5	KANDHAMAL	Regular	150	OPEN	CC	30	30	900	32	12	Bidding	30	5
280	WITHIN 5 KMS FROM PHULBANI COLLECTORATE MAIN GATE ON ANY MAJOR ROAD (NOT ON SH OR NH)	KANDHAMAL	Regular	160	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
	WITHIN 5 KMS FROM KALINGA POST OFFICE ON NH157	KANDHAMAL	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
282	WITHIN RAJ KHARIAR NAC LIMIT ON ANY MAJOR ROAD (NOT ON NH OR SH)	NUAPADA	Regular	100	OBC CC 1	CC	20	20	400	32	12	Bidding	30	4
202	WITHIN 5 KMS FROM OFFICE OF THE ASSISTANT ENGINEER GUMUDA BRIDGE SECTION AT GUMUDA ON NH 326	RAYAGADA	Regular	200	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
284	WITHIN 5 KM FROM GOVINDPUR CHOWK ON RHS TOWARDS KANAKTURA ON NH	JHARSUGUDA	Regular	250	OPEN PH	DC	35	35	1225	32	95	Draw of Lots	15	5
	AT MOUZA BHEJIA (UNDER KANKADAHADA BLOCK) NOT ON NH	DHENKANAL	Rural	55	SC	CFS	30	30	900	0	0	Draw of Lots	0	2
	WITHIN HARIPUR CHOWK TO KHARALO CHOWK , JAJPUR DIST	JAJPUR	Rural	70	ST	CFS	30	30	900	0	0	Draw of Lots	0	2
287	WITHIN 4 KM FROM KOIRA BUS STAND, KOIRA BUT NOT ON NH	SUNDERGARH	Rural	140	ST	CFS	30	30	900	0	0	Draw of Lots	0	2
288	WITHIN 5 KMS FROM DHAULIMUHAN PRIMARY SCHOOL, BLOCK - KHURDA	KHORDHA	Rural	80	OPEN	CC	30	30	900	16	6	Bidding	10	4

Location Sl. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Dimension (in M.)/ Area of the site (in Sq. M.) *		Finance to be arranged by the applicant (Rs in Lakhs)		selection	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)	
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
289	WITHIN 5 KMS FROM NIMAPADA JUNCTION ON NARISHO-NIMAPADA ROAD	PURI	Rural	70	OBC	DC	30	30	900	16	35	Draw of Lots	5	3
290 291	WITHIN 3 KMS FROM PRIMARY SCHOOL, BAJPUR IN KHURDA BLOCK WITHIN 2 KMS FROM DELANG BLOCK OFFICE TOWARDS TARABOI	KHORDHA PURI	Rural Rural	90 80	ST OPEN	CFS DC	30 30	30 30	900 900	0 16	0 35	Draw of Lots Draw of Lots	0 5	4
292	WITHIN 2KMS OF TOWN HIGH SCHOOL (HEMSURPADA) TOWARDS KANIHA ON ANGUL-KANIHA ROAD	ANGUL	Rural	60	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
293	WITHIN 2 KM OF HEALTH AND WELLNESS CENTRE (GUNEIBIL) ON PANDUA-JIRAL ROAD	DHENKANAL	Rural	55	OBC	DC	25	25	625	16	35	Draw of Lots	5	3
294	BETWEEN KAIMATI HIGH SCHOOL AND KAPILASH CHOWK ON DHENKANAL - KAPILASH ROAD	DHENKANAL	Rural	55	SC	CFS	30	30	900	0	0	Draw of Lots	0	2
295	WITHIN 1 KM FROM MAINGATE OF SARASWATI SISHU VIDYA MANDIR(DHENKANAL) ON DHENKANAL-KAPILASH ROAD	DHENKANAL	Rural	55	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
296	BETWEEN BALUGAON GOVT ENGLISH MEDIUM SCHOOL AND KHANDAPADA BYEPASS CHOWK ON NAYAGARH - KHANDAPADA ROAD	NAYAGARH	Rural	55	OPEN	CC	30	30	900	16	6	Bidding	10	4
297	WITHIN 5 KMS FROM KOTAGADA ASHRAM BIDYALAYA TOWARDS RAJARANAPUR ON RAJARANAPUR-RAJASUNAKHALA ROAD	NAYAGARH	Rural	60	OBC	CC	30	30	900	16	6	Bidding	10	3
298	WITHIN 4KMS OF DARPANARAYANPUR CHOWK TOWARDS GODIPADA VIA DAMASAHI ON NEW JAGANNATH ROAD	NAYAGARH	Rural	55	OPEN	СС	25	25	625	16	6	Bidding	10	4
299	ON BALARAMPRASAD - TALCHER THERMAL ROAD VIA PANITALA	ANGUL	Rural	55	ST	CFS	30	30	900	0	0	Draw of Lots	0	2
300	WITHIN 2 KM FROM RABINDRAMANDAP BALICHANDRAPUR TOWARDS SALEPUR ON BALICHANDRAPUR SALEPUR ROAD	JAJPUR	RURAL	70	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
301	WITHIN 4 KM FROM BAIDESWAR CHOWK ON ODR	CUTTACK	RURAL	70	OPEN CC 1	DC	20	20	400	16	35	Draw of Lots	5	4
302	WITHIN 4 KM FROM BIJAY NAGAR POST OFFICE TOWARDS KAKATPUR ON BABAR BIJAYNAGAR ROAD	KENDRAPARA	RURAL	70	OPEN	CC	30	30	900	16	6	Bidding	10	4
303	WITHIN 6 KM FROM SHANI MANDIR,MAHAKALPADA ON ODR TOWARDS MARSHAGHAI	KENDRAPARA	RURAL	70	SC	CFS	30	30	900	0	0	Draw of Lots	0	2
304	WITHIN 7 KM EITHER SIDE OF BARI VILLAGE CHOWK ON BARI JAJPUR ROAD	JAJPUR	RURAL	70	OBC	DC	30	30	900	16	35	Draw of Lots	5	3
305	WITHIN 4 KM FROM TRISULIA CHOWK TOWARDS BARANG	CUTTACK	RURAL	70	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
306	WITHIN 10 KM FROM NIMKHANA RAILWAY CROSSING TOWARDS SAGABARIA	JAGATSINGHPUR	RURAL	70	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
307	WITHIN 4 KM FROM BELEIPADA CHOWK TOWARDS DEOJHAR NOT ON NH	KEONJHAR	Rural	130	ST	CFS	30	30	900	0	0	Draw of Lots	0	2
308	WITHIN 4 KM FROM BABA NILAKANTHESWAR TEMPLE TOWARDS PAHANGA MARKET ON NIALI PAHANGA ROAD	CUTTACK	RURAL	70	OBC	DC	30	30	900	16	35	Draw of Lots	5	3
309	WITHIN 2 KM FROM MILITARY CHOWK ON BIJU PATTANAIK MARG RHS	JAJPUR	RURAL	70	OPEN	DC	30	30	900	16	35	Draw of Lots	5	4
310	WITHIN 10KM FROM ADANI SQUARE TOWARDS BANSADA-DIGACHIA ON ADANI PORT GATE-BANSADA-DIGACHIA ROAD	BHADRAK	Rural	90	OPEN CC 2	DC	30	30	900	16	35	Draw of Lots	5	4
311	WITHIN 3KMS FROM COMMUNITY HEALTH CENTRE , BALIAPAL TOWARDS GANDHI CHOWK ON BALIAPAL-GANDHI CHOWK ROAD	BALASORE	Rural	90	OBC CC 1	СС	30	30	900	16	6	Bidding	10	3
312	BETWEEN PHULADI CHOWK AND DAHAPADA CHOWK	BALASORE	Rural	130	SC CC 1	CFS	30	30	900	0	0	Draw of Lots	0	2
313	WITHIN 5KM FROM HALDIPADA CHOWK (NH OVERBRIDGE) TOWARDS SOLPATA	BALASORE	Rural	75	OPEN	DC	30	30	900	16	35	Draw of Lots	5	4

Location SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Dimension (in M.)/ Area of the site (in Sq. M.) *		Finance to be arranged by the applicant (Rs in Lakhs)		Mode of selection	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)	
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
314	WITHIN 4 KMS FROM SIRSA POSTOFFICE TOWARDS BOMBAY CHOWK JHARPOKHARIYA ON SIRSA -JHARPOKHARIYA ROAD	MAYURBHANJ	Rural	70	OPEN	DC	30	30	900	16	35	Draw of Lots	5	4
315	MOUZA ANANDAPUR ON JAJPUR TOWN-DHAMNAGAR ROAD	BHADRAK	Rural	100	OBC	DC	30	30	900	16	35	Draw of Lots	5	3
	MOUZA SARAT ON KAPTIPADA -THAKURMUNDA ROAD	MAYURBHANJ	Rural	65	ST	CFS	30	30	900	0	0	Draw of Lots	0	2
	WITHIN 7KMS FROM KAPTIPADA CHOWK TOWARDS SARAT	MAYURBHANJ	Rural	70	OPEN	CC	30	30	900	16	6	Bidding	10	4
	Mouza Kandaba on Agarpada- Kupari Road	BHADRAK	Rural	90	OPEN	DC	30	30	900	16	35	Draw of Lots	5	4
	BETWEEN SIKHARPUR PHC (PUBLIC HEALTH CENTRE) TO NANDIPOKHARI CHOWK	BALASORE	Rural	70	OBC	DC	30	30	900	16	35	Draw of Lots	5	3
320	WITHIN 2KM FROM RUPSA RAILWAY STAION CHAK ON RUPSA - BAISINGHA ROAD	BALASORE	Rural	80	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
321	WITHIN 2 KMS FROM KAIPADAR GOVT COLLEGE TOWARDS NAYAGARH	KHORDHA	Rural	90	SC	CFS	30	30	900	0	0	Draw of Lots	0	2
322	WITHIN 5 KM FROM THE CENTRE OF BALANGA BRIDGE ON BHARGAVI RIVER ON SATSANKHA-BALANGA-NIMAPADA ROAD	PURI	Rural	90	OPEN	DC	30	30	900	16	35	Draw of Lots	5	4
323	WITHIN 3 KMS FROM BORIASAHI PRIMARY SCHOOL, TAHSIL - KODALA	GANJAM	Rural	80	OBC	DC	30	30	900	16	35	Draw of Lots	5	3
	WITHIN 2 KMS FROM NANDANKANAN ZOOLOGICAL PARK TOWARDS BARANG RAILWAY STATION	KHORDHA	Rural	90	OPEN CC 1	DC	30	30	900	16	35	Draw of Lots	5	4
325	WITHIN 5 KMS FROM INJANA JUNCTION ON INJANA-ROKAT ROAD	KHORDHA	Rural	80	ST	CFS	30	30	900	0	0	Draw of Lots	0	2
	WITHIN 3 KMS FROM BIJIPUR JUNCTION TOWARDS NIRAKARPUR ON NEW JAGANNATH ROAD	PURI	Rural	80	OBC	DC	30	30	900	16	35	Draw of Lots	5	3
321	WITHIN 2 KM FROM SM BRICKS FACTORY, JUJHAGADA TOWARDS BARANG	KHORDHA	Rural	80	OPEN	DC	30	30	900	16	35	Draw of Lots	5	4
328	WITHIN 1 KM FROM BALIPATNA CHHAK ON BANMALIPUR ROAD	KHORDHA	Rural	80	OPEN	DC	30	30	900	16	35	Draw of Lots	5	4
329	WITHIN 4 KMS FROM SRIMUKUNDAPUR MARKET SQUARE TOWARDS KOTAKANA	PURI	Rural	90	OBC	DC	30	30	900	16	35	Draw of Lots	5	3
	WITHIN 5 KMS FROM STATE BANK OF INDIA, SUNDARPADA WITHIN 5 KMS FROM JUNCTION OF NH 326 A AND R UDAYGIRI TO	KHORDHA	Rural	90	SC	CFS	30	30	900	0	0	Draw of Lots	0	2
331	WITHIN 5 KMS FROM JOIN LION OF INF 326 A AND R UDATGIRL TO RAMGIRI ROAD TOWARDS RAMGIRI WITHIN 2 KMS FROM MUKTESWAR SHIV MANDIR, NIALA	GAJAPATI KHORDHA	Rural Rural	80 70	OPEN OPEN	DC DC	30 30	30 30	900	16 16	35 35	Draw of Lots Draw of Lots	5	4
	WITHIN 2 KM FROM SUKAL JUNCTION	PURI	Rural	70	OBC	DC	30	30	900	16	35	Draw of Lots	5	3
224	WITHIN 5 KM FROM DAMANBHUMI HIGH SCHOOL, TAHSIL - TANGI IN KHURDA DISTRICT	KHORDHA	Rural	70	ST	CFS	30	30	900	0	0	Draw of Lots	0	2
335	WITHIN 3 KMS FROM ARYAVART ANCIENT ACADEMY SCHOOL, BERUHAN	KHORDHA	Rural	70	OPEN	DC	30	30	900	16	35	Draw of Lots	5	4
336	WITHIN 5 KMS FROM THE JUNCTION OF NH-316 AND TANKAPANI ROAD ON TANKAPANI ROAD	KHORDHA	Rural	80	OPEN	DC	30	30	900	16	35	Draw of Lots	5	4
337	VILLAGE LACHHIPUR	SONEPUR	Rural	200	OBC PH	DC	30	30	900	16	35	Draw of Lots	5	3
	WITHIN 2 KMS FROM MADHUBAN CHHAK ON BANMALIPUR ROAD	KHORDHA	Rural	70	ST PH	CFS	30	30	900	0	0	Draw of Lots	0	2
	WITHIN 2 KMS FROM NODAL HIGH SCHOOL, HUGALAPATA	GANJAM	Rural	70	OPEN	DC	30	30	900	16	35	Draw of Lots	5	4
	WITHIN 1 KM FROM ODISHA ADARSH VIDYALAYA, BHAKARSAHI	KHORDHA	Rural	70	OPEN	DC	30	30	900	16	35	Draw of Lots	5	4
3/11	WITHIN 3 KM FROM TARA TARINI JUNCTION TOWARDS TARA TARINI TEMPLE	GANJAM	Rural	100	OBC	DC	30	30	900	16	35	Draw of Lots	5	3
3/12	WITHIN 3 KM FROM MUNDALI TOLL GATE TOWARDS PATENIGAON ON MDR	CUTTACK	Rural	70	OPEN	DC	30	30	900	16	35	Draw of Lots	5	4

Location SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Dimension (in M.)/ Area of the site (in Sq. M.) *		Finance to be arranged by the applicant (Rs in Lakhs)		Mode of selection	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)	
1	2	3	4	5	6	7		8		9a 9b		10	11	12
			Regular / Rural		SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
343	FROM MANGALPUR UPPER PRIMARY SCHOOL TO KUHIKA GRAM PANCHAYAT OFFICE NOT ON NH	JAJPUR	Rural	70	SC	CFS	30	30	900	0	0	Draw of Lots	0	2
	WITHIN 8 KM FROM KALEIPOSH CHOWK ON BARSUAN ROAD	SUNDERGARH	Rural	200	OPEN	CC	30	30	900	16	6	Bidding	10	4
	WITHIN 18 KM FROM HEMGIR POLICE STATION TOWARDS DUDUKA	SUNDERGARH	Rural	120	OBC	DC	30	30	900	16	35	Draw of Lots	5	3
346	WITHIN 24 KM FROM ODISHA CHATTISGARH BORDER AT TAPARIA ON SUNDERGARH RAIGARH ROAD TOWARDS GOPALPUR	SUNDERGARH	Rural	120	OPEN	DC	30	30	900	16	35	Draw of Lots	5	4
347	WITHIN 20 KM FROM KIDCO TOLL PLAZA TOWARDS BAMEBARI ON PALASPANGA-BAMEBARI ROAD	KEONJHAR	Rural	120	ST	CFS	30	30	900	0	0	Draw of Lots	0	2
348	WITHIN 5 KM FROM MADANPUR COLLEGE CHOWK TOWARDS PATTAMUNDAI	KENDRAPARA	RURAL	70	OBC	DC	30	30	900	16	35	Draw of Lots	5	3
349	VILLAGE- TEHEREI, BLOCK KOIRA	SUNDERGARH	Rural	150	OPEN	CC	30	30	900	16	6	Bidding	10	4
	WITHIN 5 KM FROM KOIRA BUS STAND KOIRA ON KOIRA BARSUAN ROAD	SUNDERGARH	Rural	140	OPEN CC 1	DC	30	30	900	16	35	Draw of Lots	5	4
351	VILLAGE SIBTULA IN TEHSIL TARBHA NOT ON NH	SONEPUR	Rural	100	OBC	DC	30	30	900	16	35	Draw of Lots	5	3
352	WITHIN 1 KM FROM ALL INDIA RADIO STATION, JAGDA OUTSIDE MUNICIPAL LIMITS	SUNDERGARH	Rural	100	ST	CFS	25	15	375	0	0	Draw of Lots	0	2
353	WITHIN 2 KM FROM THE JUNCTION OF NEW BYPASS ROAD AND KOIRA BARSUAN ROAD ON NEW BYPASS ROAD	SUNDERGARH	Rural	135	OPEN	CC	30	30	900	16	6	Bidding	10	4
354	WITHIN 14 KM FROM SARGIPALI POLICE OUTPOST ON BANKIBAHAL TO BHEDABHAL COAL CORRIDOR	SUNDERGARH	Rural	150	OPEN	DC	40	40	1600	16	35	Draw of Lots	5	4
	VILLAGE JUNANI IN TEHSIL AMBABHONA ON SAMARDHARAH DUNGURI ROAD	BARGARH	Rural	130	OBC	DC	30	30	900	16	35	Draw of Lots	5	3
356 .	WITHIN 4 KM FROM SPINNING MILL CHOWK IN VILLAGE TORA TOWARDS BHEDEN ON BARGARH BHEDEN ROAD	BARGARH	Rural	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	2
357	WITHIN 3 KM ON EITHER SIDE OF ZENITH LIONS GURUKUL SCHOOL ON PADAMPUR PATNAGARH ROAD	BARGARH	Rural	150	OPEN	DC	30	30	900	16	35	Draw of Lots	5	4
358	WITHIN 4 KM FROM FOREST PARK RAIRAKHOL TOWARDS PODABALANDA	SAMBALPUR	Rural	130	OPEN	CC	30	30	900	16	6	Bidding	10	4
	WITHIN 5 KM FROM SARANDAPALI CHOWK TOWARDS BARGARH ON BARGARH BIJEPUR ROAD.	BARGARH	Rural	100	OPEN	DC	30	30	900	16	35	Draw of Lots	5	4
360	VILLAGE PITHINDA IN LAKHANPUR TEHSIL ON ROAD CONNECTING NH 49 IN KANAKTURA TO KANDHEIKELA	JHARSUGUDA	Rural	110	OBC CC 1	CC	30	30	900	16	6	Bidding	10	3
361	WITHIN 3 KM FROM VEER SURENDRA SAI STATUE IN SONEPUR TOWARDS JANMURA	SONEPUR	Rural	130	SC CC 1	CFS	30	30	900	0	0	Draw of Lots	0	2
	VILLAGE DAHITA ON PADAMPUR PATNAGARH ROAD	BARGARH	Rural	150	OPEN PH	DC	30	30	900	16	35	Draw of Lots	5	4
363	VILLAGE SATIBHATA ON PADAMPUR-BASNA ROAD	BARGARH	Rural	100	OBC	DC	30	30	900	16	35	Draw of Lots	5	3
364	WITHIN 3 KM ON EITHER SIDE OF HANUMAN RICE MILL PANDAKITAL TOWARDS DUNGRIPALI ON RAMPUR DUNGRIPALI ROAD	SONEPUR	Rural	130	OPEN	DC	30	30	900	16	35	Draw of Lots	5	4
365	WITHIN 8 KM FROM KOEL BRIDGE JHIRPANI TOWARDS NUAGAON	SUNDERGARH	Rural	80	ST	CFS	30	30	900	0	0	Draw of Lots	0	2

Location Sl. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Dimension (in M.)/ Area of the site (in Sq. M.) *		Finance to be arranged by the applicant (Rs in Lakhs)		Mode of selection	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)	
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural		SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
366	VILLAGE GARPOSH IN TEHSIL BAMRA ON GARPOSH BAMRA ROAD	SAMBALPUR	Rural	100	OPEN	DC	30	30	900	16	35	Draw of Lots	5	4
367	WITHIN 5 KM FROM CHHENACHHAK ON KONARK - KAKATPUR ROAD, BLOCK - KAKATPUR, TAHSIL - KAKATPUR VILLAGE SALAD IN TEHSIL RENGALI FROM MAHAVIR CHOWK TO SAPNE	PURI	Rural	75	OBC	CC	30	30	900	16	6	Bidding	10	3
368	NEW BRIDGE	SAMBALPUR	Rural	100	OPEN	DC	30	30	900	16	35	Draw of Lots	5	4
369	VILLAGE RAGHUNATHPALI IN TEHSIL SAMBALPUR ON MUNDOGHAT TO GOSHALA ROAD	SAMBALPUR	Rural	100	OPEN	DC	30	30	900	16	35	Draw of Lots	5	4
370	VILLAGE KHANDAHATA IN TEHSIL BARGARH ON BARGARH BHEDEN ROAD	BARGARH	Rural	150	SC	CFS	30	30	900	0	0	Draw of Lots	0	2
371	VILLAGE CHANTIPALI IN TEHSIL GAISILET ON CHANTIPALI DIPTIPUR MAIN ROAD	BARGARH	Rural	100	OBC	DC	30	30	900	16	35	Draw of Lots	5	3
372	VILLAGE BELPAHAR ON COAL CORRIDOR CONNECTING LAKHANPUR OCP TO NH	JHARSUGUDA	Rural	330	OPEN	DC	30	30	900	16	35	Draw of Lots	5	4
373	VILLAGE SILATI IN TEHSIL BINKA ON BINKA SONEPUR ROAD	SONEPUR	Rural	110	OPEN CC 1	DC	30	30	900	16	35	Draw of Lots	5	4
374	WITHIN 4 KMS FROM TIKIRI POLICE STATION ON ROAD CONNECTING TOTAGUDA AND UTKAL ALUMINA	RAYAGADA	Rural	230	ST	CFS	30	30	900	0	0	Draw of Lots	0	2
375	WITHIN 5 KMS FROM AGALPUR PANCHAYAT SAMITI COLLEGE IN ROTH TOWARDS AGALPUR ON ANY MAJOR ROAD	BOLANGIR	Rural	160	OBC	CC	30	30	900	16	6	Bidding	10	3
376	WITHIN 3 KMS FROM GOVT HIGH SCHOOL GONA ON ODR TOWARDS MUNDIBEDA	NABARANGPUR	Rural	120	OPEN	DC	30	30	900	16	35	Draw of Lots	5	4
377	WITHIN 2 KMS FROM PANCHAYAT SAMITI OFFICE CHANDAHANDI TOWARDS MOHORA	NABARANGPUR	Rural	140	OPEN	DC	30	30	900	16	35	Draw of Lots	5	4
378	WITHIN 5 KMS FROM TRINATH CHOWK AT KAPSI TOWARDS RAJAKHARIAR ON SINAPALI-RAJ KHARIAR ROAD	NUAPADA	Rural	100	OBC	DC	30	30	900	16	35	Draw of Lots	5	3
379	WITHIN 2KMS FROM MAJHIGUDA GRAM PANCHAYAT OFFICE TOWARDS KUMBHARAGUDA ON KUMBHARAGUDA TO MAJHIGUDA ROAD	RAYAGADA	Rural	120	ST	CFS	30	30	900	0	0	Draw of Lots	0	2
380	WITHIN 3 KMS FROM GOSTHI SWASTYA KENDRA JIMIDIPETA ON MDR 48B	RAYAGADA	Rural	130	OPEN	CC	30	30	900	16	6	Bidding	10	4
381	WITHIN 3KMS FROM GOVT. UPPER PRIMARY SCHOOL AMSENA ON AMSENA SALIHA ROAD	NUAPADA	Rural	50	OPEN	DC	30	30	900	16	35	Draw of Lots	5	4
382	WITHIN 3 KMS FROM HANUMAN MANDIR LATHOR TOWARDS KHAPRAKHOL ON LATHOR KHAPRAKHOL ROAD	BOLANGIR	Rural	150	OBC	DC	30	30	900	16	35	Draw of Lots	5	3
383	WITHIN 3 KMS FROM COMMUNITY HEALTH CENTRE KUNDRA ON ANY MAJOR ROAD	KORAPUT	Rural	150	SC	CFS	30	30	900	0	0	Draw of Lots	0	2
384	WITHIN 3KMS FROM MAIN GATE OF GOVT SWAMI SIVANAND SCHOOL,KORUKONDA ON MALKANGIRI BALIMELA ROAD	MALKANGIRI	Rural	140	OPEN	DC	30	30	900	16	35	Draw of Lots	5	4

[#] Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of potential.

^{*} The site should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant should have firm offer for the same.

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership along with Application form and other relevant details. The Brochure is available in the Corporation Website (www.hindustanpetroleum.com /www.petrolpumpdealerchayan.in) and can be downloaded free of cost.

APPLICANTS, IN THEIR OWN INTEREST, SHOULD CAREFULLY GO THROUGH THE "BROCHURE" AND UNDERSTAND CONDITIONS OF SELECTION BEFORE SUBMITTING THEIR APPLICATION.

Application for RO dealership along with online payment of Non-refundable application fee, as applicable (detailed below), should be submitted on-line by **27/09/2023**.

Type of RO	Type of Site	Category	Applicat ion fee in Rs.	Type of RO	Type of Site	Category	Application fee in Rs.
Regular	CFS	SC/ST	3000	Rural	CFS	SC/ST	2500
ROs	CC	OBC	5000	ROs	CC	OBC	4000
	CC	Open	10000		CC	Open	8000
	DC	OBC	5000		DC	OBC	4000
	DC	Open	10000		DC	Open	8000

The facility for submission of on-line application will be withdrawn immediately after the cut-off date as mentioned above.

The tenure of the dealership shall be for an initial period of **10** years and renewable every **10** years thereafter.

This is only a notice inviting application for allotment of RO dealership and not an offer of RO dealership.

The Corporation reserves the right to cancel/withdraw/ amend this advertisement or extend the due date at its sole discretion without assigning any reason.

In case of any discrepancy in advertisement published in English Newspapers vis a vis vernacular dailies, the direction/information indicated in English paper would prevail. Similarly, contents of Brochure in English will be final and will prevail upon in case of any dispute.

For any information with regard to the advertisement, candidates may contact the following address:-

Address / Contact Nos	For districts
HPCL Sambalpur Retail Regional Office, 2nd Floor Balaji Business Centre, Budharaja, Sambalpur – 768004 Contact Nos: 0663-2536000, 9839774494	BARGARH, BOLANGIR, BOUDH, DEOGARH, JHARSUGUDA, KALAHANDI, KANDHAMAL, KEONJHAR, KORAPUT, MALKANGIRI, NABARANGPUR, NUAPADA, RAYAGADA, SAMBALPUR, SONEPUR, SUNDERGARH
Hindustan Petroleum Corporation Limited Bhubaneswar Retail Regional Office Alok Bharati Building, 5th Floor Sahid Nagar, Bhubaneswar-751007 Contact Nos: 0674-2547509, 0674- 2377001, 9437021350	ANGUL, BALASORE, BHADRAK, CUTTACK, DHENKANAL, GAJAPATI, GANJAM, JAGATSINGHPUR, JAJPUR, KENDRAPARA, KHORDHA, MAYURBHANJ, NAYAGARH, PURI